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HIBEE (BliA)
SRR
20254F 2 ~ 3 H4y | 20254E 4 A4y
IOWETD 1HTIZ DX 9. 714 5. 054
10WE Z 2 20WE TO 1 4TITox 19. 429 10. 109
20WE = ZAOWE TD 1 4TITH X 38. 841 20. 20
'@éﬂ‘ .......................................................................................................................................................................
A0WE = Z60WE TOD 1 4TIToX 58. 26 30. 30/
60WZE Z 2 100WE TO 1 LTIcH = 97. 10/ 50. 49
L0OWE Z 25 LATIZOX100WE T &Iz 97.10M 50. 49
SOVAE T 1 ez o X 29. 00/ 15. 0814
ISR I50VAZ 2 2 100VAE T 1 #§Ssic o X 58.01M 30. 16
100VAZ Z 2.5 1 BE#IC D &E50VAE T & IT 29. 0014 15. 08
A EDS0VAE TOHRE 0. 7814 0.41H
RABRNL0VALZ = 2 100VAE TOHS 1.57M 0.81M
(1 El _O%) AR EN100VAR = 2 500VAE CTOHEA100VAFE T LI 1.57M 0.81M
SR ENB00VA% = 2 1kVAE TOHA 15.65M 8. 1414
MAEN 1kVAZ Z 2 SkVAFE TOHEAE 1KVAE T EIZ 15.65M 8. 14
EHIE 0. BRWO S 8.23M 4. 28
(1 El LO%) ..................................................................................................................................................................................................
BT LWL ESKWETD 1kWZ & 1T 16. 451 8. 55
1 #8Micox 250. 00/ 130. 00/
EAH)E /0. BkW 4. 114 2. 144
EHIES LKW 8. 221 4, 28
LKIES) 2kW 16. 451 8. 55
) B | e
(1HIZHOX)
EHIES SKW 24.67M 12. 831
BKIES) A KW 32.90M 17. 1114
BHIES) Sk 41.12M 21. 38




